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Mark all answers that apply.  Add an explanation for any responses that you think you need one.

1) Why is the Local Loop connections to homes and businesses analog instead of digital?

a) ** Existing phones and switches would all have to be converted to digital equipment.

b) Analog is faster

c) Analog is easier to amplify over copper wire

d) Digital connections would require fiber optic lines into homes

2) What are differences between voice and data circuits

a) Voice circuits have to be faster to avoid latency

b) Voice communications are analog from end to end and data is digital

c) ** Voice circuits must limit latency

d) ** Voice circuits do not perform error checks

3) Why would you choose a bus topology for a Token Ring LAN?

a) A bus does not require as much wiring.

b) Bus cards and switches are cheaper

c) Busses are easier to connect clients to

d) ** Token Ring does not run over a bus topology

4) Contention in an Ethernet LAN refers to

a) Two nodes can transmit at the same time and interfere with each other

b) ** Whichever node gets the network first can use it

c) The way that a node that has a multiple packets reserves the network

d) When a node detects a collision it continues transmitting to assure that all nodes detect contention

5) Token ring provides for

a) **  Priority packets

b) ** Equal access for each node

c) ** Message acknowledgement

d) Collision detection

6) Hubs in a LAN

a) ** May be used to simplify attaching clients to the LAN

b) Are Layer 3 devices

c) Can convert from Ethernet to Token Ring

d) Can provide a collapsed backbone architecture

7) A device that takes packets from several messages and intermixes them on one wire is a

a) ** Switch 

b) ** Router

c) ** CSU/DSU

d) ** Multiplexer

8) Category 5 cable is

a) Fiber optic glass

b) Single cable copper

c) ** 8 wire copper

d) 5 wire copper

9) Which of the following use a bus topology

a) ** ATM

b) FDDI

c) ** Gigabit Ethernet

d) SNA

e) SONET

10) Client/Server architecture refers to an architecture in which

a) Operations are controlled by a central server

b) Each node acts as both a client and a server

c) ** Some nodes are dedicated to providing information to the other nodes who process it

d) The network operating system is loaded on a single node that manages the communications

11) Which of the following functions are handled at OSI layer 3

a) MAC addressing

b) ** Network Addressing

c) Wiring standards

d) ** Error Checking

12) Which of the following is Layer 1 technology?

a) ** RJ45 connectors

b) Routers

c) Switches

d) ** Hubs

13) What is the OSI Reference Model?

a) A proprietary network architecture

b) The design standards for the Internet

c) ** A description of general network in layers used to simplify understanding

d) A set of specific network standards that manufacturers must design to

14) What is a MAC ADDRESS?

a) A network location such as an office drop physically wired into the network

b) A circuit route between one node and another established at setup time

c) An Internet address defined by the network administrator

d) ** A device ID number burned in by the manufacturer

15) How does MANCHESTER ENCODING provide for self-clocking?

a) It uses start and stop bits before each byte to restart synchronization

b) ** It changes voltage at the middle of every bit sent

c) It refers to atomic clocks to synchronize each node in the network

d) ** It specifies the length of each packet so receivers can synchronize with the packet

16) 10BaseT is a communication standard that specifies:

a) 100 Megabits Per Second

b) Fiber Optic connectors

c) Multiple channels on the same connections

d) ** Unshielded Twisted Pair wiring

17) Examples of a NETWORK OPERATING SYSTEM are:

a) SONET

b) ** Windows NT

c) The Internet

d) ** UNIX

18) The CLIENT PORTION of an Ethernet network operating system

a) Packetizes the messages

b) ** Redirects commands to the network or to the CPU

c) Provides message oriented management

d) Replaces the interrupt manager in the client operating system

19) Which NETWORK OPERATING SYSTEM is showing the fastest growth

a) ** Windows NT

b) Novell NetWare

c) UNIX

d) MVS

20) The ability of a product to work on any platform in a network is

a) Scalability

b) ** Interoperability

c) Buy-in

d) Message oriented coordination

21) What is MIDDLEWARE?

a) Software that identifies network addresses and updates router tables

b) WAN software that converts from LAN protocols to wide area protocols like SONET

c) Front end tools that simplify user communication with client nodes

d) ** Provides services to client/server applications that simplify programming of the interfaces

22) What is a THREAD in a server program?

a) ** A version of the application program that serves a particular client session

b) The circuit path between a server and a particular client

c) Thinnet fiber optic cabling between the server and the network router

d) The routing scheme for packets in a WAN

23) What is a Remote Procedure Call (RPC)?

a) ** A subroutine or module on a server that is invoked by a client program

b) A thread established by a client contact

c) A middleware request for a client service

d) A server message

24) Which of the following describe Messaging Middleware (MOM)?

a) Client requests services from the server and waits for a response

b) ** Client queues up responses and executes other functions while waiting for responses

c) ** Server maintains communication with the client by encapsulating responses in a package addressed to the client.

d) Programmers distribute applications by looking at single machine code and moving subroutines to the server as appropriate

25) PACKET SWITCHED connections over a network:

a) Route all packets through the same nodes

b) ** Rout packets individually

c) Confirm delivery of packets

d) Deliver packets in the same order they were sent

26) SWITCHES 

a) ** Read only the header of a message

b) Are appropriate for forwarding based on network addresses

c) Operate in software

d) ++ Maintain forwarding tables (e.g. routing tables)

27) Why is the choice of MIDDLEWARE difficult?

a) ** Middleware products do not all interoperate with all applications

b) Vendors like Oracle do not support middleware

c) Middleware does not work with TCP/IP

d) ** There are many different products with different specialized advantages

28) What are key issues in Evaluating Technology?

a) ** Price 

b) Technical excellence

c) ** Market share

d) First to market

29) What are problems with OBJECT TECHNOLOGY?

a) ** Immature software products (inefficient and not scalable)

b) No established manufacturers support objects

c) No network middleware

d) ** No universally accepted design methodologies







